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Sociology

Paper II

THISTIME
P9aeRT 11

Time Allowed : 120 Minutes]
: This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U STed. T YA e

: I YETURARHE] THU FIAR (100) TgIART YA el Sed. Yoo YAl g (2)

The farmer’s long march in
Maharashtra in March 2018 was
fundamentally demanding ............. .

(A) Credit facilities for the Kisans

(B) Implementation of Swami-
nathan Report guidelines

(C) Loan waivers as well as the

implementation of the Forest
Rights Act (FRA)

(D) Loan waivers as well as fair
price for crops

The debate on the mode of
production in India centres around
the issue :

(A) A shift in Indian economy from
a capitalist to a post-capitalist
mode of production

(B) A shift in Indian agriculture
from a primitive to an Asiatic
mode of production

(C) A shift in Indian agriculture
from a feudal to a capitalist
mode of production

(D) A shift in Indian Agriculture
from an Asiatic to a colonial
mode of production

qENegTd ATE 2018 HeAd fEmiTEn
TIdR=AT=AT AgTHIATET &I AT

................... _bp[@?ﬁ
(A) FF F gfaer &

(B) T&THIATLA STEMT=an ferweEi=h
AT L0

(C) Jrdteicl HSiHThl 3Tfor o1 gk
fa hd [a} ~
Sh QR HHASNS QU] Y]

(D) Il ST ST SIaHTATe
I 99 fHa0n

ORAldid 3caed Ugdt getad faare
................. _q.l. H?"”\‘-“q('ﬂ th{c“,

(A) YRAE THaede WTSaaeiel o
IR-TSIAIMEl S TGdlhe
EIECKE]

(B) YR o= o71feH o iR SaeT
Tgdiche IiadH

(C) YRAM I SIS o Higaerme!
AR Ugdishe TiEdA

(D) YRdE S SEEE o SI9edae!

3cUed ggdiehe i

[P.T.O.



Diaspora refers to :

(A) Voluntary
migration

transactional

(B) Migration from rural to urban
areas

(C) Human trafficking

(D) Dispersal of an ethnic group
from their homeland to foreign
land

Which of the following is not related
with property relations ?

(A) Classes

(B) Agrarian structure

(C) Relations of production
(D) Monetary relations

Unstructured observation is mostly
used in :

(A) Descriptive/Diagnostic studies

(B) Exploratory/Formulative
studies

(C) Experimental studies
(D) Analytical studies

Which of the following is not the
objective of “National Mission for
Green India” ?

(A) Restoration of Wetlands

(B) Agroforestry and Social
Forestry

(C) Disaster Management

(D) Enhancing Tree Cover in
Urban Areas
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TIRY s (Diaspora) ®US
(A) Ufesh AW T

(B) IO @ Il TR

(C) HHel dBgHh

(D) Fif¥TR e AU S YHIT

R YIRS QUMK

W] IO HTeTH=a Fa ey
qafyq A& ?

(A) =t

(B) T HL=A

(C) IR HaY

(A) IS/ feMHS 31e9

(B) STAYUcHeR/I=cHe: 3189
(C) YANTIcHeh 37&099
(D) fageroonces  S1ege

WeATAdeh! shivrd ¢ e faem ®R W
sfean’’ = Sfee A ?

(A) U STHAT GAEToT

(B) Hivatentor STfur |HISTeh aiensol

(C) AU TTEATI

(D) T favrma st o




The Mahalanobis model was

influenced by which of the following ?
(A) Gandhian model

(B) Soviet model

(C) Latin American model

(D) Democratic model

Given below are two statements, one
is labelled as Assertion (A) and other

as Reason (R) :

Assertion (A)

development of cities has resulted

Haphazard

into degradation of urban

environment.

Reason (R) : This is due to absence

of urbanization policy in India.

Select the correct answer from the

codes given below :
Codes :
(A) Both (A) and (R) are correct and

(R) is the correct explanation

of (A)
(B) Both (A) and (R) are correct, but

(R) is not the correct explanation
of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true
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.
(A) et wrEy
(B) wifegud 9r&q

(C) difeq AR urey

(D) ARl Y&y

el TF faum et 3Ted. Jwda T
gfaaed (A) e 3Tl g8 FRU (R)
e

gfaureq (A) : vga=an afagifea
Toresrraman oM AR ST <8
e AR

HIUT (R) : I8 &HIU 9RATHED
AR LOT=AT GROM=T 319/E § 376,

@il HehdiehTUeh! s 3aR fIaer :

Hehd :

(A) (A) 3T (R) SIFaT SR 3TTed STfo1
(R) ¥ (A) 9 Irg TILEHI0 3T

B) (A) 3T (R) < SRR 3,
(R) T (A) 9 Img TIShI0 TRl

(C) (A) s 38, W (R) I 3T
(D) (A) I% 3R, W (R) e 3T

[P.T.O.



10.

11.

12.

Which among the following is not

a major cause for cultural change ?
(A) Invention

(B) Discovery

(C) Diffusion

(D) Assertion of tradition

Epistemology can be understood

as :
(A) Theory of knowledge

(B) Basis of methodology

(C) Methods and techniques
(D) Framework of data analysis

Whose name is closely associated
with the concept “Little and Great

Traditions” ?

(A) Louis Worth
(B) Judith Butler
(C) Robert Redfield
(D) Milton Singer

Which of the following programmes
has been started by the Government
of India for creating environmental

awareness amongst the children ?
(A) Nature Lovers

(B) Soldiers of Nature

(C) National Green Crop

(D) E-Waste Management

10.

11.

12.
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TCATCUsh IV TR Sear &
HRU G ?

(A) Heqshey

(B) My

(C) FuR

(D) W= 3T

TAHTHETRIE U
(A) ¥ fagid
(B) UsfaemeATel SUR
(C) dsdl & o

(D) deAr=A Tagersum= <iehe

eIl e e ic B o 1 i
W' 1 Gehod el Felfed 318 ?
(A) 9 a9

(B) S[EIY T2

(C) e efthes

(D) faeed famR

AR GAROTAoEe Sl o
FATITAT I AR R RI0TT
A =TS hell ?

(A) fri ot
(B) e dfeh

(C) FIHA UH S

(D) - FITATIA




13.

14.

15.

16.

Concept of ‘symmetrical family’ was

propounded by .................. .

(A) P. Willmott and M. Young
(B) T. Parsons and R. Bales
(C) C. Harris
(D) R. Brown
Which one

statements about Ethnicity is

of the following

incorrect ?

(A) Involves we/they distinction
(B) Is only subjective

(C) Involves labelling

(D) Establishes boundaries
Which one of the following does not

denote modernisation ?

(A) Changing dress style

(B) Changing ways of life
(C) Developing infrastructure
(D) Maintaining traditions

The secondary needs (the derived
needs) as mentioned by Malinowski

ATE .vereeererienenns .
(A)
(B)
()

Biological
Psychological

Social-structural and instru-

mental

(D)

Symbolic and cultural

13.

14.

15.

16.
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AT Hed’ B FehedH i HiSerel
g ?
(A) . foemre onfor @@ =m
(B) & U oAU IR, deH
(C) =t
D) . SSA

AYTeha=a1 HeYidid Eeileldeh! hivd
faum <@ R ?
(A) ST STl/d 9 THIfase STl

(B) ek SHfRlTSS 3R

(C) &feT gafas TR

(D) Hir Tenfyd shid

WeATeTdeh! hioTdl e g fehdan fade
FIA AT ?

(A) UM TGl S

(B) Site wgdldiel siqed

(C) gyt fasmmg

(D) W= Saq

o O o [ haV

AHeEh] AT ITeT@l hedTqHTI T

(C) WTHITSTeh—FToAIHS A0 LAY
(D) WctepTcHeh SAIf0T WiEhideh

[P.T.O.



17.

18.

19.

“In a working day, the value created
by workers over and above the value
of their labour time which goes to
owners of the means of production
to make profit in the market” is
termed by Marx as :

(A) Surplus value

(B) Use value

(C) Production value

(D) Exchange value

divide in

Growing digital

globalization is a matter of change

IN e .

(A) Material culture

(B) Non-material culture
(C) Popular culture

(D) Mass culture

The consequence of any cultural or
social act, which is intended and
recognised and contributes to the

adaptation in a given system is
called ................... .

(A) Latent function

(B) Manifest function
(C) Latent dysfunction
(D) Manifest dysfunction

17.

18.

19.
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“uen e foawma gfEeR e
hHTHTSA Sosedll Yo &l S 319 S 4o
Trafor shetel o194, O ScHICT=AT TIEAT=

HIeTehTeh S SITSTRIATS 9T AT Shavamarst

(A) e/ 3faiert qoo

(B) 9T I

(C) 39T oI

(D) faf#a qea

ST [eh UMl ST SFTUTehid farsera

(C) @rehfa Tl
(D) W H&hdt

IR Wihfaeh fehar Traees foramm
RO, T ST IR ST HRIAT
ST AT < AR A HATLHE
3R WHUIEE AR Id, e
.................... B

(A) IYFHS FHH

(B) Uehe k1

(C) 2T9ehe AYHH

(D) Yhe 37Uk




20. Given below are two statements, one

21.

is labelled as Assertion (A) and the

other as Reason (R) :

Assertion (A)
domestic violence is not as loud as
it should be.

¢ Discourse on

Reason (R) : Domestic violence
occurs within the four walls of the

house.

Select the correct answer from the

codes given below :
Codes :
(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)
Both (A) and (R) are true, but

(R) is not the correct explanation

of (A)
(A) 1s true, but (R) is false
(A) 1s false, but (R) is true

(B)

(&)
(D)

When an overseer is called a junior

engineer, it is an example of :
(A) Upward mobility

(B) Parallel mobility

(C) Fictitious mobility

(D) Occupational mobility

SEP - 14221/I1—A

20. et g faum foefl oed. e T

21.

AR (A) T 3T TR &R (R)
e
yfaured (A) : Do fEa=mE«

(a)

Tufrg fSiden! el ST gaid, faden]

.

<lUT (R) : I
fydiaey T

fa o

2foeh feaMER *_= =R

@eiledl HehdiehTdeh! I7T 3 ferer

- -
-
-

(A) (A) 3T (R) TI-al sIeR 3TTed STfor
(R) ¥ (A) ¥ Iy TIRI0 378

(B) (A) 37T (R) S8t sRIeR 31ed, Tq
(R) § (A) 9 I TR e

(C) (A) I g, 99 (R) ek 3R
(D) (A) I TR, 997 (R) R 3T

~

Sieg] TENedl YehlGHTA SIS gist
TRUA HATS S, ¥ IS0
I 2R,

(A) e A
(B) HHIGR Tfavqe

(C) hfcad Tfaac

<

(D) AEHIIeh Tfaq

[P.T.O.



22.

23.

24.

25.

Who used the term ‘avtar’ to denote
a new form of caste ?

(A) Andre Beteille
(B) Yogendra Singh
(C) S. C. Dube

(D) M. N. Shrinivas

Who is the author of ‘The Urban
Question : A Marxist Approach’ ?

(A) D. Harvey
(B) M. Castells
(C) P. Saunders
(D) L. Sawers

“The end of patriarchialism with
more divorces, less marriages, more
use of reproductive technologies and
women’s denial to patriarchal
authority” is suggested by .............. .

(A) A. Giddens
(B) M. Castells
(C) J. Butler

(D) B. Freiden

The tribal movements in north-
eastern parts of India were launched
mainly for seeking :

(A)
(B)
(&)
(D)

Socio-cultural status
Forest based rights
Political autonomy

Movement against economic
exploitation

22.

23.

24.

25.
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ST 3T T Seeid shidMT ¢ 3Tadr’

I GIE ST RV Herr 2

(A) @t st

(B) Arig fam

(C) TH. & gd

(D) TH. . =ifesm

‘T @ FAYEd : U HifeaE v’

I KR o@eh I 7
(A) <. e

(B) TH. &Rd

(C) dh. =g

(D) Tel. i

“greeiel FTEhIE, Ul YHIOMA BIUTR
foraTe, qAecaIGHTAT Ao aTedl aTus
SO G0 Yo AfeeRiT ferart feeren
TR A &8 TR 370 8 378
3w gEae Ty ?

A) © frew
(B) TH. HZeH
(C) 9. T
(D) st wred

ARATE Ia-9d  YFTde STfeard

TBAE! A YA HIHS & A ?
(A) QmTfSToh-TTEhias gt

(B) STeel 3T &k

(C) TSR W&l

(D) nf¥ies wwume foliemd Tede

10
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26. Who proposes ‘The iron law of | 26. 'W Traet fagia’ wiof
oligarchy’ ? qrset ?
(A) Robert Merton (A) Ve 724
(B) Max Weber (B) e IR
(C) Karl Marx (C) et AR
(D) Robert Michels (D) T2 faved
27. Which is the odd one out with | 27. WreliciUsh! I Teh HeHeh folehd =TT
regards to the Millennium a2
Development Goals ? .
(A) Eradication of Poverty (A) TS T
(B) Reduce Child Mortality (B) 9t HHT HLOT
(C) Achieve Universal Primary (C) o wefges faemm S man
Education
(D) Shelter for all (D) FareR! fem
28. ‘Disneyisation’ term is coined 28. ‘fewemagem’ & wsg I
DY ceeeereeeeeeeeens . TIR shel.
(A) Bauman (A) SfHA
(B) Bryman (B) sm&EHq
(C) Bourdieu (C) 94
(D) Ritzer (D) =)
29. Disadvantage of participant | 29. Teyrfl F&Om=En 1 ®o T
observation is : @& e A
(A) False image
(B) Misinterpretation (B) T efefisr
(C) Confusion (C) Ty
(D) Too much of identification (D) 3Tdt STeesish
11 [P.T.O.



30.

31.

32.

33.

All gender issues must be addressed
and integrated at all levels of society,
politics and programmes. This view
is called :

(A) Gender Justice

(B) Gender Mainstreaming
(C) Gender budgeting

(D) Gender equality

Which one of the following is most
inequitable metropolitan city of
India as per Gini-coefficient as a
measure of inequality ?

(A) Mumbai
(B) Meerut
(C) Bengaluru
(D) Kolkata

Who described post-modernism as
“incredulity towards the meta-
narratives” ?

(A) Baudrillard
(B) Bauman
(C) Lyotard
(D) Foucault

When knowledge
commodity :

(A)
(B)
(&)
D)

is only a
Information is not knowledge
Technology becomes important
Knowledge is narrative

is

Spiritual knowledge

important

30.

31.

32.

33.
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Td fAmarafasEes 9T THS, TSI
0T SRR HAT Td Tae) Heifed o

Wehichd ohel UTfGSl. AT hd TgU 2

(A) famame ==

(B) famyeme H&d JaTgenyl

(C) fermumenenfia srefeehedier

(D) fefmema |

ﬁﬂﬂ?ﬁ\ﬂ AeE =UA ﬁﬁ’f—w
TEAdeh! ShIvId RN HeATR Saifeeh

o=l e ?
(A) gelg

(B) #3

(C) Ig®

(D) hIcTehTd

“ rfaeRearTegee  eifasaaEar’’ o8
SER- ST ThdraQre 09 &0l Hal
e ?

(A) SER
(B) wiI&HEA

(C) TR
(D) Hh!

Sl IF T hdes fomd o] od
(A) Hifedt & I T&d

(B) TRIMNE He<™ dled

(C) IM  heA 38
(D) neATfcHsh [ HewIqul 3TEd

12
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34. Which type of development projects | 34. WIciciUeh! ShIoT Wehr= forehmd Wlﬁﬁo’
have displaced maximum number of Tald S Al foeamT ol 3Te 2
persons ? (A) @R
Eg; ;/Iines (B) o

ams
(C) Industrial ©
(D) Wildlife sanctuaries (D) ST ST3ERTA

35. E. Said’s orientalism referred to : | 35. 3 WIEg AN Weliedarg gferd

(A) Essentialising the Non-Western "\ . .
World (A) T TIRETT ST TshHSAh ]

(B) Glorifying the Eastern World (B) Hielicd ST ARe TR

(C) Demonising the Middle East (C) HeAqe TerEfishm

(D) War with Iran (D) TUEETE g5

36. Structured interview helps | 36. FE HaRrre HE A
11 0 AUUUU . e
(A) Standardisation (A) HHTOHT
(B) Interpretation (B) staary e
(C) Deconstruction (©) l’ Sl 0
(D) Discourse analysis D) weforre fererom

37. Which of the following features of | 37. FIgfas fEa=R =1, 2005 7
the Domestic Violence Act, 2005 is TTefieden! FIvA dfTsed I AR ?
J t ? N o o
z:;o;;recl des ab that is ohvsical (A) IR, <ifies, IMfsgeh, YEH

ncludes abuse tha 1§p ysical, Y S -

sexual, verbal, emotional and

economic (B) 9, faise-3 SIEieR, sifeont, fasmen
(B) Covers wife, live-in partner, o enfor o I gHE

sisters, widows and mothers - -~ - oo
(C) Deals with " ¢ (C) <hMHTAT T3hI=AT Higel=Al <[ Teh

eals with women’s harassmen

at the workplace K
(D) Recognizes women’s right to (D) w1 deTfesh SRAEA AUl

reside in the matrimonial home AfgpR AT

13 [P.T.O.



39.

is anything that carries

a particular meaning recognized by

people who share a culture.
(A) Value
(B) Belief
(C) Moral
(D) Symbol

Given below are two statements, one
is labelled as Assertion (A) and the
other as Reason (R) :

Assertion (A) : The patriarchal
the of

patriarchialism, is being challenged

family, comerstone

at the turn of the millennium.

Reason (R) : Most self-conscious

educated women prefer to live alone.

Select the correct answer from the

codes given below :
Codes :
(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

Both (A) and (R) are true, but
(R) is not the correct explanation
of (A)

(A) 1s true, but (R) is false
(A) 1s false, but (R) is true

(B)

(&)
D)

39.
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US| 3T TRl i SHHS
M Rt a1 =1 ki fafime
A A9 W B

(A) T

(B) &1

(C) fceman

(D) Hehd

el T faum et 3Ted. Jmda T
gfaded (A) e 3T g &RI (R)
e

Yfeare (A) : I8Y FEMAERET 9@
TS STHUE JEUIEN FHaadess

IgAal 3T fHed 3T,

&IUT (R) : dgdsh TWcardl SATofla
st frfad fomn TR el uEa
S {dld.

WAl GehdishTdeh! o) Sk el :

Tehdieh :

(A) (A) 2Tfr (R) el sie) 3Tmea 37ifor
(R) T (A) 9 Iy TILH 38

(B) (A) 3T (R) St slIsR Ted, W
(R) ® (A) ¥ Irg TOahI0 el

(C) (A) SR 31, g (R) I 3T
(D) (A) I% 3R, W (R) TR 3T

14



40.

41.

42.

Which of the following is not correct

about the structured observation ?

(A)

The observer must carefully

define the units to be observed

(B)

Must focus on selection of

pertinent data

(©)

It is not necessary to record the

information

Standardization of conditions

(D)

must go along with it

Which one of the following is true

about the questionnaire method ?

(A)

Ensures greater proportion of

returns

(B) Contains specific and clear-cut

directions

(C) Administered on all types of

subjects

(D) Easy to understand the content

of the questions
Agency refers to :
(A) Normative behaviour of an
individual
(B) Rebellion
©)

(D)

Individual’s political action

Capacity of an individual to act

independently

40.

41.

42.

SEP - 14221/I1—A
Ereteiyes] ea fdemonfast s@m
HE AR ?
(A) fegem faomaee=a Tt

FRIBSIYelsh AT whell lfgsl

(B) garg qear=n fagiaR @et wisa
ERE!

(C) wifedt Aigan TS T9d
(D) gRfrd= JHTOfeRLoT Hed s8ld

YA UEESA Sedd Se erdeh]
HIG Tk fIUM s 38 ?

(A) HISIT YHIUG 9ATeaT=l sl

(B) -HeRN STfY Youse P HHEET

(C) ¥d YhI=al faoaaadt swif=ad

HITITSI
(D) AT SR HESUAEE gy

HAIU WIS
(A) T AR adq
(B) fas®

(C) Faiet USTehtd el

(D) e A0 el HLTATE! &7
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43.

44.

45.

46.

Environmental sociology generally
focusses on the ................. .

(A) Social dimensions of either the
natural environment or the

human-built environment

(B)

Environmental and economic
dimensions of society

(C) Social dimensions of people

associated with environment
(D)

As per India’s Census 2011, youth
(15-24 years) constitutes what
percentage of India’s total
population ?

(A) 19.1
(B) 23.1
(C) 34.1
D) 37.1

Which one of the following is a
probability sampling ?

All environmental issues

(A) Snowball sampling
(B) Cluster sampling
(C) Quota sampling
(D) Accidental sampling

Whose names are associated with
the book “Manufacturing Consent :
The Political Economy of the Mass
Media” ?

(A) Sussman, G. and Galizio, L.

(B) Edward, S. Herman and Noam
Chomsky

(C) Robinson, J.P. and Davis, D.K.
(D) McQuail, D. and Windahl W.

43.

44.

45.

46.

SEP - 14221/I11—A

TSRS HISTINE HTHI=Iq0]
ELER: L

(A) Tha? gfiier Tgieomean |mHIsieh
EISEERCIECREIEGIRICI|

(B) SIS qterofty ity stfefsr s

(C) wafeRomRtt frifeq cieme |
RIS

(D) ¥ g e

2011 =1 YRA™ SUHIER, TR

AR EEa=A fohdl 2oh TR EEaT el

(15-24 =) a8 ?
(A) 19.1
(B) 23.1
(C) 34.1
(D) 37.1

TITeTadsh! HITA Teh WA FHAT
Aqe ?
(A) Fefe oAl

(B) YSfehT <THAT
(C) Il AT
(D) 3Tehfedd THA

WTACTIhT ShIOT AT ¢ e e :
T fctifeshal SehirHT 31k g A fafean”’
I JERR HatHgd ed ?

(A) g&FA, S offor Telsiia, T
(B) TedE, TH. THA S0 A\ AHeht
(C) VferE, 3. dt. anfor e=g, <. .
(D) Hed, €. s faee g
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47.

Which approach focusses on the
feature that reproduction and
economic roles are linked to gender
inequalities of masculinity and
feminity ?

(A) Welfare approach

(B) Women in development

(C) Efficiency approach

(D) Gender and development

47.

SEP - 14221/I1—A

IOl GERIRH Jeud ST Siiea a1
e faumarelt gaecaed o sfdies
i & AfvTel Secteft stedma, =
SO A ohisd il ?

(A) FHEHRR TRIRM

(B) faermardter Afgam

(C) wEieHal g
(D) famume sufor fawmm

48. Which of the following viewpoints | 48. @clciueh! ShIvRT HANATE THTHHA T@Si
has not been envisaged by I qReRfeud ot A& ?
Radhakamal Mukerjee ? (A) I WWW
(A) The fusion of empirical and THATHTT

normative approaches (B) TR T e
(B) Interdisci'plir.lary approach to e TR
study social issues .
(C) Inclusion of value component of © HHN!lW S SRATT et
facts in the study of society FIEHIE FHIEA
(D) Rationalization of tradition (D) TR ATfeheh oLy

49. A hypothesis is not essential for : | 49. T@asw e TRerd ATl
(A) Positivist research (A) TcaemefarET EEIE]

(B) Ethnography (B) <reher@l
(C) Epistemology (C) ATHHMERTE
(D) Survey (D) Gaefu

50. Unorganized sector is different from | 50. 3Td=fcd &= Hufed ammuey =
organized sector in : W IS e
(A) Length of employment (A) USTIRr=T e
(B) Unemployment (B) SRS
(C) Migration (C) TIAR
(D) Social security measures (D) HHIfS FWEE II™
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51.

52.

53.

54.

The book entitled “Protestant Ethic
and Spirit of Capitalism” examines
the relationship between .............. .

(A) Religion and Polity

(B) Economy and Polity

(C) Religion and Economy

(D) Economy and Environment

Which word is used by Edward Said
to describe the Western scholarship
about the Eastern World ?

(A) Structuralism
(B) Orientalism
(C) Marxism

(D) Colonialism

According to Talcott Parsons which
are the two functions of family ?

(A) Rearing of child and

socialisation

(B) Primary socialization and

personality stabilization

(C) Personality development and

stabilization

(D) Maintain kinship network and

socialization
Find out which of the following is
a part of the exploratory or
formulative studies ?
(A) Analysis of ‘insight-stimulating’
cases

(B) Description of

characteristics
(C) Testing of hypothesis
(D) Variable analysis

group

51.

52.

53.

54.
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‘e 3o ofe wifte offth wdidetem’
I GEAHMES HIOAl G R

TegeY qYiacel ofed 2

(A) = eTfor Teggen

(B) rgfemeEen Smfur Usagen

(C) &g omfor Stefezrawen

(D) sredeazen ST gafaRo

Yot SEfaeel qfyeded ST 9o

HLOIEIS TSaS WS AT hIOl ITeg
IR 3R ?

(A) TEAER
(B) draferare
(C) e
(D) IERAER

2leehie ITE-~a=AT Hd HeaTal hIo aF
HE 3ARd ?
(A) IAEAGA ST AR IR

(B) WiafHeh QHTSTehenIol 3T SHferaa
LR

(C) Afaaa faera emfor et
(D) STqEsY ST 0T HHTfSTeh [sh LT

EATAUhT ShIVId ATTCHS o TR

FIIAE A 3, O SeswEl

(A) ‘Aagst W' AR faverso
(B) wHgr=l dfymedr= quie

(C) TRIaeRr= =mait

(D) =& fageivo
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55.

56.

57.

58.

Who among the following considered
that the relationship between orient
and occident is one of power,
domination and hegemony ?

(A) Anthony Giddens
(B) Manuel Castells
(C) Pierre Bourdieu
(D) Edward Said

Who among the following uses
both the processes-opposition and
mediation ?

(A) Claude Levi-Strauss
(B) Clifford Geertz

(C) T. Parson

(D) M. Foucault

Who is credited with introducing the
study of kinship systems to the
gender studies ?

(A) Neera Desai
(B) Leela Dube

(C) Irawati Karve
(D) Vina Majumdar

Which of the following is not the type
of ‘capital’ given by Bourdieu in his
theory ?

(A) Cultural
(B) Symbolic
(C) Economic

(D) Religious

55.

56.

57.

58.

SEP - 14221/I1—A

EeteTdeh! hIU dreied o qIiy=Hre
AN A0 ¢ Hedl, T69 9 g™
e, I A ?

(A) Tt fire

(B) HUA +hcH

(©) R ==

(D) TeaE TES

weeusht o fadie’ smfor ¢ geoefi’
I SR UlhATT ST el 7

(A) T AR

(B) FiHe TS

(C) 2fcTeple U

(D) TH. R

TG SIS ST ST
AT A3 HITAT I HI0MA
|

(A) T T

(B) witel gd

(C) Zadt wa

(D) o AERR

Geftadent * qreaardn’ vl TR aig.
I e faguiamsd fgen At 2
(A) TTHideh

(B) YdtehTcHeh

(C) emfdfen

(D) entHe
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59.

60.

61.

A movement which combines
spiritual, religious and social issues
is best known as :

(A) Reform movement

(B) Alternative movement
(C) Transformative movement
(D) Millennium movement

Which one of the following has
the highest growth rate during
2001-2011 ?

(A) Statutory town

(B) Census town

(C) Outgrowth

(D) Urban agglomeration

Given below are two statements, one
is labelled as Assertion (A) and the
other as Reason (R) :

Assertion (A) : Gated enclaves
symbolize the exclusive urban
development in India.

Reason (R) : Only a few can afford
to live in gated enclaves.

Select the correct answer from the
codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true, but
(R) is not the correct explanation

of (A)
(A) 1s true, but (R) is false
(A) 1s false but (R) is true

(B)

(&)
D)

59.

60.

61.

SEP - 14221/I11—A

Sii REa Aefceh, wiftfen o1 |rATfSTeh

WHT |{qr)'>l q,){d i}l(’“ ................
A Sd.

(A) GUROT o9
(B) AR Tosdes

(C) uRadrHs Tesaes
(D) TeHEt T

2001-2011 TN WTATAUSh! ShIvC
SEhTE AlGEl &1 Fcged Bl ?

(A) denfrer IR
(B) SITOMT 3Me
(C) drrare

(D) B =g

el g faum fooielt sTed. U™
FITUeT (A) HAIE 378 T GE-a™ R
(R) Hal&iel T8

gfaureT (A) : Tfe Sfesd weuT § I8l
foehMddl @ a7 dleh 3T1R.
HIUT (R) : Orea1 cishH GXfamd afced
Yo¥l HHSEMHE dRded shill YIS Ui
T4

~ .

G feetell TehdiehT=a STER AT I

aer

'Fl@'d‘l? :

(A) Tl (A) U1 (R) & sRIsR 371 3If0r
(R) ® (A) = Irg TOhu 278

(B) =1l (A) 3T (R) ¥ ¥F o1, W
(R) T (A) T Iy TqehIv el

(C) (ﬁ%%aﬁmm,m’@(m%%

(D) ?é%%sﬁ,mm)%aﬁm
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62.

63.

64.

65.

Gandhian idea of development
focuses on ................. .

(A) Private ownership

(B) Community ownership
(C) Trusteeship

(D) Government ownership

Which one of the following is not a
principle of qualitative research ?

(A) Communication
(B) Inflexible research procedures

(C) Construction of reality
(D) Reflexivity

Which one of the following does not
come under the domain of a survey ?

(A) Information about specific
persons

(B) Information about specific

problem

(C) Tested general knowledge for
formulating theory and general
laws

(D)

Improvement of  social
conditions of a specific locality

Whose name is closely associated
with ‘The New Ecological Paradigm’
in view of development of
environmental sociology ?

(A) Hannigan, John
(B) Ariel Salleh

(C) Riley Dunlop and William
R. Catton

(D) Rob White

62.

63.

64.

65.

SEP - 14221/I1—A

Mieli= foerTEm=n sheqm

T 2.

(A) @St Hieteht

(B) HHETHeh HIcTeh]

(C) favaed s1&dl

(D) YT HieTh!

ETATeTUsh! IV T[UNTcHe FREAT
& ?

(A) gy

(B) heR, @iafaeh THOT=A1 WA Ufshan

WTeATeTdehl hI0d Teh T &I e

Jd AR ?

(A) fafyre fdfaweh mfed

(B) faferse ToeAfoset mfecdt

(C) fogema et W= etfufemren
YAUEIE! HEA A= JSdiev

(D) faf¥rse geumdier qmrse fRerdme
R

TRV SRS foemr=n

gISZshIH, ‘e aRE ImeiE gy’
foren fTd Sh0aTd IV A9 STes Hafed

AR ?

(A) @I S

(B) sfftzel @meie

(C) Rl eaerg smfur faferem R, shed

(D) V4 =M<
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66.

67.

68.

Who is the author of ‘The Rise of
the Network Society’ ?

(A) S. Sassen

(B) M. Castells

(C) R. Sennett

(D) J. Urry

Asylums, according to E. Gaffman
is an example of a .................. .
(A) reformative institution

(B) total institution

(C) political institution

(D) school

Given below are two statements, one
is labelled as Assertion (A) and the
other as Reason (R) :

Assertion (A) : Societies having
particularism and ascription as basic
features are traditional societies.

Reason (R) : Parson’s scheme of
pattern variables can not be applied
to appraise modern-tradition
polarity.

Select the correct answer from the
codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true, but
(R) is not the correct explanation

of (A)
(A) 1s true, but (R) is false
(A) 1s false but (R) is true

(B)

()
D)

66.

67.

68.
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‘T ST A 2o W A1 TR
ek hi Ted 2
(A) T, WA
(B) TH. Hr=ed
(C) R, T

(A) guR S

(B) YU HEel

(C) TST&hiT FEe

(D) et

el gF 9 foelt oTRd. odid U
gfaqred (A) 38 AT g FHRT (R)
IR

YiAUTE (A) : a1 TSI JAyd Sfere]
faferearg enfor aifdaar emeq, @ 9w

qRUfeh THTS 3T

®RUT (R) : TYh-TRaE e
TedTeh OIS T = SThfd-
Y Tl B SARES] Al 4 AE

Gt HehdiehTdeh! Mg 3a fHarer :

W :

(A) (A) 7o (R) Tt e 3TTed ST
R) T (A) 3 I TR 3T

(B) (A) T (R) Sl SRR 3TTed, T
(R) B (A) = I IR0 e

(C) (A) s 31, g (R) I 31
(D) (A) & TR, WG (R) s 31
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69.

70.

71.

Who is the author of the book,
‘Sociology of Economic Life’ ?

(A) M. Weber

(B) T. Parsons

(C) N. Smelser

(D) Karl Marx

Which of the following arguments

about gender is incorrect ?
(A) A social construct

(B)
(®)

Based on biological differences

Allows analysis of power-
relations between women and

men
(D) Has intersectionality perspective

Research ethics prescribe guidelines
to protect from ............... .

(A) Harm to participants
(B) Pollution of mind
(C) Limelight

(D) Publicity

69.

70.

71.

SEP - 14221/I11—A
‘ QTS S TehiHiEh TE®’, a1 Tam=
oiEsh Iv 3Ted 7
(A) TH. TR
B) & TEH
(C) TH. TR
(D) el A
Eeftertent femare ae o wfades
I AR ?
(A) g a1
(B) Sifoeh ®ishieR smemia T8
(C) T oniftn geemHee Ha-waer
forersr v B
(D) s dibed sme

HyiteArea Afaemesita wedar o1
HIieeieh YAl Sd ST
e fhed.

(A) FE9TiAT €reht

(B) HAE UGl

(C) wfagr=n @

(D) wiEgt

72. Who has written the book ‘In the | 72. ‘37 T deit 211 T R&X : IHeA HifForae
Belly of the River : Tribal Conflicts 3leR THATHS 3 AU el & T
Over Development in Narmada Fo fafea R ?

Valley’ ? . .
. (A) Ueh Hepel
(A) Patrick McCully 0
(B) Ramachandra Guha (B) = Id
(C) Madhav Gadgil (C) wrea Tmeiies
(D) Amita Baviskar (D) AHaT ST
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73.

74.

75.

76.

Who
indexicality ?

(A) Harold Garfinkel
(B) Erving Goffman
(C) Alfred Schutz
(D) Karl Manheim

‘‘Network Enterprise’

used the concept of

is the
organizational form best suited to a

global, informational economy.” Who
said this ?

(A) M. Castells
(B) M. Albrow
(C) A. Giddens
(D) G. Ritzer

C. Geertz’s interpretative approach
to cultural anthropology considers
culture as ........cc....... .

(A) Pragmatic

(B) Synthetic

(C) Semiotic

(D) Holistic

According to whom classes in Indian
agriculture can be identified in
terms of surplus value and economic
exploitation ?

(A) D. N. Dhanagre

(B) Utsa Patnaik and Ashok Rudra
(C) Danial Thorner

(D) Ramkrishna Mukherjee

73.

74.

75.

76.
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AR Feheu T v ARl ?
(A) Tiee TRiREHA
(B) W& Tt
(C) he oA
(D) =Tt HEH

Ciere ertenfia 3wH' (Network
Enterprise) 3 STfaes S0 Hifedieal
MR TIHEE/IE! HaqarT eSS
YHR AR’ T HIUT W M ?

(A) TH. HEcH
(B) TH. STosil
(C) w firew
(D) . feEr

. ey = Ahfae AR
sraaneft gfeshMgaR d&pdt

3TTe.

(A) ScTqETIh

(B) H¥HUICHh

(C) Tagwamn

(D) HeHY

I T RS FHoeh GHSIA et

3@ TRehe Tod d 3Tfieh fesaryen =
Teyld Yeaar Iq ?

(A) . T. AR

(B) 3T UeEeh 9 3T T3
(C) =fEa g R

(D) THFHS HEISI
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77.

78.

79.

M. Foucault refers to governmen-

tality as ......cccceeu. .

(A) Broad acceptance of dominant

norms
(B) Totalitarian state mentality
(C) Dictatorship

(D) Power through knowledge
Who argues that kinship is based on

the alliance between two families
formed when women of one group

marry men from the other group ?
(A) B. Malinowski

(B) A. R. Radcliffe Brown

(C) Claude Levi-Strauss

(D) Clifford Geertz

‘Welfare decommodification’ refers
to :

(A) Welfare is provided publicly not-
withstanding one’s income or

resources

(B) Welfare is provided on the basis

of one’s income and resources

(C) Welfare is provided through

market like goods and services

(D) Welfare is aimed at social
stability, stable families and
loyalty to state

77.

78.

79.

SEP - 14221/I1—A

o

T, el § TeEHed
e .

(A) F9ET FEwAET e Sl
(B) Helrvare! Tooded= A
(C) THEWME

(D) MM el

SRl T SHEaHE Il Bl Teh! FHRRITA

St g1 FHRIde JEuTeRIeR faamg sd
A SR ST Herel AdEa Y
I UMM, 3T Jfaued SIvi Sl
;e ?

(A) . HelHreaeht

(B) T AN (EHA® S

(C) FlE T=I-TE

(D) FA®E e

‘Arehehearn fa-fafraaesgemcn’ wus
ER

[aV
BEIGE

(A) ArhkeATT] B hHIVMTHE Iq+ o
T I foaR 7 il wresieh
e qaa s

(B) THehe0l § S 9 HHIEATE
YR QLEel Sid

(C) ThehearTl § ASIRUSHThd %] d
HAYHATT qEEel ST

(D) TheheATUTE B WM T, feer
Fed 9 TSaEEd gia fsar @1 o1
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80.

81.

82.

83.

Which one of the following is not a
characteristic of ethnographic

research ?

(A) Social interaction

(B) Researcher as learner
(C) Short-term observation
(D) First-hand observation

Which of the following is most
polluted city in India by particulate
matter (2.5) ?

(A) Kanpur
(B) Varanasi
(C) Delhi
(D) Gaya

Power excercised through force or

threat of force is known as ............ .
(A) Authority

(B) Coercion

(C) Terrorism

(D) Vandalism

Relationship in the community

are ...ccoeeeveeennen. .
(A) Intimate and achieved

(B) Durable, ascribed and impersonal
(C) Intimate, achieved and durable

(D) Intimate, durable and ascribed

80.

81.

82.

83.

SEP - 14221/11—A
TTATTdeh! I clehTolE HeNEA
Sftre AR ?
(A) GrTfSTen  SATafshan
(B) weiee fomnet st
(C) reuehreiq e
(D) ®&a: el fRie
YA hIoTd T qfdaRIeie HeX (2.5)
= g Fald S UG wER STy 2
(A) FAR
(B) oorEt
(C) feeedt

(D) =

STolosT el & TRT=A AT fohall
JRIE SR T3 STHA SV ST
W .................... 3@ w.

(A) 3R

(B) <9

(C) <TERaR
(D) fasgs

(A) et smfor e1fsia

(B) ferss, arftia snfor saferien
(C) afrceta, @Afsta amfon fehrss
(D) emcdE, feshrss emfor eAfdq
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84. Which is the oldest environmental | 84. YRAKiel Fafd A1 TATA0 el Teedes
movement in India ? IO ?
(A) Chipko Movement (A) T eTicem
(B) Bishnoi Movement (B) farooiig et
(C) Jungle Bachao Andolan (C) STel F=sll T
(D) Appiko Movement (D) 3Todieh! SR
85. Match List I with the List II and | 85. 3=l I = =<t 11 @it Sren Sesan afor
select the correct answer from the arell feetedl Fehdlehmyd A Sai
codes given below : frarer -
List I RICUN
(@) Role taking (@) YfFshT T8T
(b) Public world (b) WESHER S
(¢) Impression management (c) FYETe AT
(d) Breaching experiments (d) 9 9=
List II IJrar 101
(1) Ethnomethodology (1) wrehugudeTe
(2) Symbolic interactionism (2) FdiehIcHs STafmamEe
(3) Dramaturgical analysis (3) TrEETStE fagermm
(4) Phenomenology 4) TEATITE
Codes : TrtE
(@ ®) @ (@ (@ ®) (© (@)
A @O @@ 3 @ A O @ 6 @
B) @ B @ @ B) @ 3 @ @
< 3 @ 2 @ < 3 @ @2 @
D 2 @ 3 @ D 2 @ G @
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86.

87.

88.

89.

Most common type of Domestic

violence is .......ccueeeeee. .

(A) Wife battering

(B) Child abuse

(C) Elderly abuse

(D) Sibling violence

The belief in technology as

determining factor in all fields of life

is called :

(A) Rationality

(B) Technicality

(C) Technocracy

(D) Techno-democracy

Jarawas is a tribe from ............... .
(A) Bihar

(B) Andaman Island

(C) Assam

(D) Rajasthan

Which of the following creates

gender roles in a society ?
(A) Biological differences
(B) Education

(C) Socialization

(D) Political institution

86.

87.

88.

89.

SEP - 14221/I11—A

Fiefam fEEERET FEda9Hm= I&R
.................. g—[ \31.'%‘
(A) Tcite AT

(B) SToiehieieR Terd

(C) TIERIEIeR e

(D) wEEEeR TaER

AT B ST §d & R

ST STl hig e ?
(A) ferr

(B) 3fgHM w2

(C) &

(D) TSI

TTAYeh! IV FhTes THTSTHES
femama ofiesr fmfor gam 2

(A) Sfaess fa=tan

(B) feremor

(C) HHIISTehiehLom

(D) TIEEq
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90.

91.

92.

Who believed that caste system is
based on the principles of hierarchy,
the binary opposition of pure and

impure ?

(A) S. C. Dube
(B) M. N. Srinivas
(C) G. S. Ghurye
(D) Louis Dumont

What is the percentage of disabled
persons in the Indian population as
per census 2011 ?

A 1.1

(B) 2.2

(C) 3.3

D) 4.4

Which famous work of Marx
mentions the following lines “History
of all hitherto existing societies is
the history of class struggle” ?
(A) A Contribution to the Critique

of Political Economy
(B) The Poverty of Philosophy
(C) Capital

(D) The Communist Manifesto

90.

91.

92.
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WAk hIvT ‘ST <o & 9o
T Iealer SR ST, AHE Ys
3T oTLg & 5ol faummt efeesd’ o1
qd J9d sl ?

(A) T9. 9. qd

(B) TH. W. #ifqam

(©) . wE

(D) T =H

foehell SHed=l YR dAleha&ddid
TFhAl 2011 =T STOHTER ket
e ?

(A 1.1

(B) 2.2
(C) 3.3
D) 44

TSI 3faeTe 8 SiEEE Side ST

7 O A iUl Ui i

Famed Id ?

(A) T HITHIE 2 T fohfesws ®
ifetfesher gehTArHT

(B) T dleel 3w fhatrarmt
(C) =fyea

S

(D) T FRfFe dHe
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93.

94.

95.

96.

In which book social movements
around local and neighbourhood
rights are analysed by Manuel
Castells ?

(A) The Urban Question

(B) The City and the Grassroots
(C) The Rise of Network Society
(D) The Power of Identity

Which one of the following is correct
about secularism in India ?

(A) Separation between state and
religion

(B) Equal treatment to all religions

(C) Quality of education for all

(D) Dual citizenship for all

According to Weber which of the
following is not the characteristic of

ideal types ?

(A) Abstraction

(B) Hypothesis

(C) Analytical tool

(D) Not found empirically anywhere

Who is the author of the book
“Gender Troubles” ?

(A) Ann Phillips
(B) Patricia Hill Collins
(C) Judith Butler
(D) Sylvia Walby
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ATA e Al hIveal T
ToqTfeh  3TIfUT SIS Bk ATH S e
ISR Tatdesia fagesol shol 318 ?

(A) B 76 Foger

(B) T &l ofe & umEEeq

(C) § WS A% Teas R
(D) 3 i 3w sFS
Teeush! v fasm TR oH-
feaEd sleR T ?

(A) T9 00 g6 AHed STl

(B) W& ¥ §HM SRR
(C) watardt Turecargul feregor
(D) HaiHE! gadl AR

Je AT HA WeiledUeh! hiv[d 3Teyl

N A [al
YIEUrd oiRrsed dRl 7

(A) SR
(B) ‘1'6’|€l$
(C) foavorooncHes 9reM

(D) YA SFHSTd <higd 3Meesd gl

“IEX I’ A1 IR e il
IR ?

(A) 39 fwfered

(B) dfefren fear hifer

(C) “gfey seer

(D) Tafee=n atest
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97.

98.

99.

100.

Homosexuality is :

(A) The orientation of sexual
activities towards same sex
person

(B) The orientation of sexual
activities towards opposite sex

person

(C) The orientation of sexual
activities towards same sex

before marriage
(D) The orientation of sexual
activities towards same sex, but

allowed only for men

Who proposed the pedagogy “Learner
as a Co-creator of Knowledge” ?

(A) C. W. Mills
(B) Paulo Freire
(C) R. K. Merton
(D) E. B. Tylor

Which of the following works of
Prem Chowdhry refers to the cases
of Honour Killings ?

(A) The Veiled Women

(B) Gender Discrimination in Land
Ownership

(C) Political Economy of Production

and Reproduction

(D) Contentious Marriages, Eloping

Couples

Test-retest method is used for

determining :

(A) Validity of test scores

(B) Reliability of the test

(C) Neither (A) nor (B)

(D) Both (A) and (B)

97.

98.

99.

100. ITEUH-gA=I=0 T
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THANTRAT WU

(A) gafeift e ol FHadrame
e

(B) fy=fertt =adiere <iffieh SHei@ra!
SRt

(C) e =Herdishe foamaremedt <iffieh
Esigsicilic Rt erll

(D) %de TEUEE! R HKihs
TR et AT RaT

“ foreromet 71 M e et

e | I T o b e et e o e |

A) . =g foew

(B) Tl el

(C) 3R. . Hed

(D) s. &t AR

U9 e} I Wielieldeh! Il 378y

AR frfermen wertonn defyfa e ?

(A) T =g oA

(B) SieX fefamrfimym 39 ofe ffym

(C) Wfcfeshal shiATE Tith WeaRM 3fe
EIEENE

(D) SN W™, AT Hued

SEUIEE] aTIRe STd.
(A) =TEUlt Tl e
(B) ===t fovarmEa
(C) (A) sufor (B) <=6l TRl
(D) (A) =7for (B) ==
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ROUGH WORK
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